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Q.If Raju earns 20% more than Vijay, by what percentage 1s Vijay's earning less

than that of Raju? LowerPCS-2019

INPELZ

(B) 50/3%
(C) 40/3%
(D) 20/3%
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Q. forelt F@aT & 8% TS 31 3% e | ITH HE&AT3! o off= o1 3T 407 81
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Q. The difference between the numbers obtained by adding 8% to a number and

subtracting 3% from the number i1s 407. The original number is: | jp Lekhpal, 2015

f (a) 3700

(c) 3500
(d) 3600
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Q. T o 3t Tedsh ST o 10% ST ST & I 36k &Ihel H fehd- Tfrerd e
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Q. Each side of a square 1s increased by 10%. The percentage increase in its

area 1s :

LowerPCS-2017

(a) 25
(b) 12.5
(c) 20
(d) 21




Q. 19 =1 feraT Ifa=ra 7.6 § 2
Q. 7.6 1s what percent of 19 ?

PET -2022

(a) 30%
(b) 40%
() 50%
(d) 60%
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Q. forel adteareff st utear Iiol ot ok foTT 40% 3k I8 7 B 98 180 37eh ITH hidT ?

I SR Fehi § AN BT ST 2l THeT § quiien fohe 872

Q. An examinee has to secure 40% marks to pass an examination. He secures 180

marks and fails by an equal number of marks. The total number of marks in the

examination 18S: LoworPCS2017
7 e (a) 900
( (;:@> (b) 1000
Qe (c) 1050
(d) 800
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Q. The ratio of expenditure to savings of a woman is 5:1. If her income and

expenditure are increased by 10% and 20%, respectively, then find the percentage

change 1n her savings.

UP Exam Practice Question

INERZ
(B) 60%
(C) 50%
(D) 40%




Q. I1C O gt fordlt s Y ShHd 30% SI@Ts STt & 3T aeie H fht 1aa§am°r

R I AT I J e Tfeerd IrE 2 -
Q. The price of a car 1s increased by 30% before the budget and again by 10% 1n

the budget. The overall percentage increase in the price of the car is —

[Lekhpal, 2015]

(a) 44%
(b) 43%
(c) 42%
(d) 41%
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Q. 'A' 67% e ITH AT & SR AT ki A 192 ik 31fersh ITH LT & sialfeh 'B' 27% ik
STH ST @ 3R 48 3fehl © TTI0T &1 ST 2| GLedT o6 foTe Iefto 3feh m &2
Q. ‘A’ scores 67% marks and gets 192 marks more than the pass marks while 'B'

scores 27% marks and fails by 48 marks. What is the pass marks for the

examination? UP Exam Practice Question

(A) 210
(B) 320
(C) 440
ER
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Q. Ife fore T 1 30%, 135 9 15 T4k B, 7 39 &I T 50% 1A hiSIq
Q. If 30% of a number 1s 15 more than 135, find 50% of that number.

UP Exam Practice Question

(A) 200
(B) 210
(C) 230
(D) 250
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Q. T x o ST AT 25%, y o Th-SATATS o 30% o HI o 2.5 THT o6 S
%,T'ﬁx, yﬁ?%‘ﬁﬁﬂﬁ‘ﬂﬁﬂﬁ%ﬂ%l—l 27

Q. If 25% of half of x 1s equal to 2.5 times the value of 30% of one-fourth of y,

then x 1s what percent more or less than y ? UP Exam Practice Question

(a) 33(1/3)% 3AT&h/more
(b) 50% 3Afe@h/more

(c) 33(1/3)% kH/less

(d) 50% =hH/less
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Q. Tofeleh =1 Ueh 7T weife GieT, IS8 O i SITg ST ht AT ©, 56 ISTe |

ATIATRT A Shl TS dAT STS 6% FH BT SdT 21 AR H % HHT T IS

Q. Vivek bought a new plot which need to be fenced immediately, due to this the

length as well as the breadth of the rectangular working place 1s reduced by 6%.

Find the % decrease in the area. UP Exam Practice Question

(A) 11.64%
(B) 12.00%
(C) 11.00%
(D) 11.84%
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Q. Toret 3T gteqT H 12T ITH i o foTu 72 Wfaera Siehi shl ATI9=ehdT Bl 7, IS
T o 3AIhdd 3Tk 650 & 3T2dT- T 37ehT o Hey U ohe 3% =T 2?2

Q. 72% marks are required to qualify 1n an entrance exam if the maximum marks

in the exam 1s 650 then what 1s the cut off in terms of qualifying marks?

UP Exam Practice Question

CVERY
OES
(c) 468
(d) 486
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Q. 300 T\ Y =it o Taret=m | 40% =i+t 21 399 ferat =i+ firars st arfers foaer
T =t 50% BT SITe?

Q. A 300 gm sugar solution contains 40% sugar. How much sugar should be

added to it so that the sugar in the solution becomes 50%? [Lekhpal, 2015]

(a) 60 TH/grams
(i 3 (b) 25 U™/grams

(c) 45 UtH/grams
(d) 40 gm™/grams
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Q. 31 HEATT, el ST & ShHRT: 10% 3R 25% 3ferh €| 3 a1 SATSHT 3h1 ST 2
Q. Two numbers are 10% and 25% more than the third number respectively. The

ratio of the these two numbers is:

UP Exam Practice Question

(A) 18 : 25
(B) 22 : 25
(C) 19 :25
(D) 23 : 25
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Q. I A FHT AT B & AdT H 60% 311 7, df B T a9 A o 9= § foha gfasrd
FH 87
Q. If A's salary 1s 60% more than B's salary, then by what percentage 1s B's

salary less than that of A ? UP Exam Practice Question

7 D N
( =i > (B) 33.3%

(C) 37.5%
(D) 45%
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Q The side of a square 1s increased by 25%. What is the percentage increase in

1ts area?

UP Exam Practice Question

(A) 62.5%
(B) 57.5%
(C) 50%
(D) 56.25%
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Q. Tk ATtk YT 3T T 25% ST 21 Al IHehT A= H 20% a?raﬁ?—a'aﬁ%

3 3HhT Tod THM TGl &, TN 3Tk o3 T FGT GAT T T G2

Q. A person saves 25% of his income. If his income increases by 20% and his

savings remain the same, then what will be the increased percentage of his

expenditure? UP Exam Practice Question

INPIRZ
(B) 26 %
(C) 30 %
(D) 26(2/3) %
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Q. T3 AT hl TS T ANSTE T SHAIT: 8% TR 5% Y g 3hl STt 71 3T
e B foha gfeTa shi gfg 2o
Q. The length and breadth of a rectangle are increased by 8% and 5%,

respectively. By how much percentage will the area of the rectangle increase?

UP Exam Practice Question

(A) 13.4%
(B) 15.4%
(C) 12.4%
(D) 16.4%
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Q. 2 IrHieam « TATE Tl forsrft SrHied T shi S Hal & 52% Hd ITH g¢ 3T a8 5400
HAl o S | SHTd T Al 10% HAl i AL B 3L fST T 9T, 7 Sl T el /el
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Q. 2 candidates contested the election. The winning candidate got 52% of the valid

votes and won by a margin of 5400 votes. If 10% of the votes were declared

invalid, what was the total number of votes polled? UP Exam Practice Question

= (A) 160000

(C) 140000
(D) 120000




Q. Ff< Toh ST ol Tedsh ST AT 11% hH T fG2T ST, 1 &5 feheHT B STa?

Q. If each side of a rectangle 1s decreased by 11%, then the area will decrease by:

UP Exam Practice Question

(A) 24.31%
(B) 25%

(C) 21.13%
(D) 20.79%




Q. ST STUT AT T 50% T FAAT 8l ITh! AT H 20% ! Ihg Bl & IR 36k
ST H 12.5% hT g BIdT & JEehT ST :

Q. Anurag spends 50% of his income. His income is increased by 20% and his

expenditure 1s increased by 12.5%. His savings: UP Exam Practice Question

(A) 27.5% dig/Increased
(B) 25% df&/Increased
(C) 22.5% ®HI/Decreased
(D) 25% hHI/Decreased
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Q. T S 1 10,24,000 Tardt 21 fe SHEEAT 2.5% i a9 &hi e ®|<5 2, arde
Y o 37d H HaTi= shi 63T J1d shitsTy)

Q. A district has 10,24,000 inhabitants. If the population increases at the rate 2.5%

per annum, find the number of inhabitants at the end of three years.

b,

UP Exam Practice Question

> (A) 11,20,736
(B) 11,02,736
(C) 10,75,840
(D) 10,64.850
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